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DAY 1 — Reasoning Questions

1. The numbers in this sequence increase by the same
amount each time. Write the two missing numbers.

SoA0N AarN AN a0
ser 1 320 T30 TR 00T

2 marks
2. Circle the number that is closest to 400.
423 4001
‘\?_‘_S/ 1 mark

3. Abox contains 170 pens. 6 children each take 4 pens.
How many pens are left in the box?

4. Write the missing numbers in the multiplication grid.

9 4 70

X

45 20 350
5

54 24 420
6

27 12 210
3

2 marks

5. Here is a diagram for sorting numbers. Write one number in
each box. One is done for you.

Show | | |z ,. Al=itladzl |
. 1130 24-&46
method | | | 4 .
146
2 marks

Square number Not a square
number
Odd number 25 35711.13.1517..
Not an odd number 4,16, 36, 64.... 2.6,8 10 12, 14...
i 2 marks
wquoﬁzsznqjcﬁgblﬁﬁjéq 64. %1, 108
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DAY 2 — Reasoning Questions

1. Max jumped 2.25 metres on his second try at the long jump. This was 75
centimetres longer than on his first try. How far in metres did he jump on

his first try? X ; '-2 S 1.5m or 150cm(1 mark)
5. = A
1 ® 55

A packet contains 1.5 kilograms of guinea pig food.

Remi feeds her guinea pig 30 grams of food each
day.

S

BE S'I;ﬁ: 1S 00.a
show | 1) SI00*36:=S0
your
method

50

(2marks)

3. A bottle holds 1 litre of lemonade. Rachel fills 5 glasses with lemonade.

She puts 150 millilitres in each glass. How much lemonade is left in the
bottle?

a1 WML o - SJAQL 250ml(1 mark)
i f Py _7<rm
l (ttre = 1O0O0OmM (OO0 - ] S = LDE

4. One gram of silver costs £26.79.

What is the cost of 1/2 of a kilogram of silver?

| 2lg - 31q]
lal=zl£2a- 79 [x | | IS]
MLl 339

Show | i - <IN 3538 4

your "’*“‘*“‘“—'—"“}“/\;Q““""‘“"S“‘-"C“QS -

method | | 2 “ i

N (N . i i £13395
12161 139 x1SI00=
(2 marks)

5.
This fence has three posts, equally spaced.

2 /\

15am 15am 15am
153an

Each post is 15 centimetres wide.
The length of the fence is 153 centimetres.
Calculate the length of one gap between two posts.

1 &2, L _
153¢m - 43em = 10€em

\Lcm =2 -
- J § e -

54cm (1 mark)

\j\

>%cm each
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DAY 3 100 x 902 =

Arithmetic Questions
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1. Write the two missing values to make these equivalent fractions

correct. .
X L

6 }/ﬁ)
= 3 =9
12
8 4
2. - R 2

Shade '/s of this shape.

~)
L

- L
-

|10
e Y5
5

3. 480 + 100 4.8

(2 marks)

(1 mark)

(1 mark)

4.

Here is a pattern on a grid. x &
N
(0 _ 406
2S5 jeo
\ 1
What percentage of the grid is shaded?
40% (1 mark)

5.
Match each decimal number to its equivalent
fraction. One has been done for you.

0.25 % Bl

0.4 10 5 1o

0.75 Ya

0.2 25 (1 mark)
6. Write in the missing numbers.
30% of 60 is 18 30% of 200 is 60

¢ / - 2 mark
0/ ef60=-6 307/ =60 (2 marie)
g 3-18 10°/. =20
20x10 =200
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Emily has 6 cubes.

She sticks them together to make this model.

?:11

She paints the sides of the model grey all the way
round. She leaves the top and the bottom of the

model white.

How many of the cubes in the model have exactly

two faces painted grey?

2

Here are some shapes on a grid.

/

-.._‘_‘\
|

NV

Write the letter of each shape that has one pair of

parallel sides.

DAY 4 — Reasoning Questions

4 (1 mark)

A and C (1 mark)

3.

Look at the triangle. Angle x is fifty-five degrees.
Calculate the size of angle y.

s V™~

35° (1 mark)

Not to scale

Calculate the size of angle y in this diagram.
Do not use a protractor (angle measurer).

-

A

4

. o il ~ .
+6S °=1

~

e f RS S

A

v e

Ay
¥

[ 30

N

S : 25° {1 mark)
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DAY 5 — Reasoning Questions

In class 6T there are 3 girls to every 2 boys. There are 21 girls in
the class. How many boys are there?

-
g B 14 (1 mark)
2. & )
.1 - 4'} \.\‘T‘q
| &‘ _."i
2 2\ .14

A cupcake recipe uses 2 eggs for every 250g of flour. How many

eggs are needed for 1kg of flour? | ka =) O00C
o ) ol
A 0 AN o A 8(1 mark)
(2 2SO0 Yy
3. ~g - iCCCj’
Use the rule below to fill in the empty boxes.
Double a number and add 3
- (T o b O :2
L i [ Se A o
A+ =51
B | —pdd 49-3z46
A 9) 7
G46+22243 (1 mark)

4.

Here is a sequence of patterns made from squares
and circles.

Number
of squares

Number
of circles

C o

@ e |6
C @ ©

The sequence continues in the same way.

Calculate how many squares there will be in the
pattern which has 25 circles.

2S5-1=24
24 -2 -\2

12(1 mark)
3.

[ Jand O each stand for a different number.
Sy
D+D=Q+O+D

What is the é\;}glue of O7 -

Dlr.s S4- = B
6R - 34 = 34
34+ 2:13

17 (1 mark)
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DAY 6 — Reasoning Questions

1 A school has a quiz each year. There are two
teams. Here are their resulits.

i

North  South

200
Paints ; S

1504+ L

1004 =
so— B F
o - .

1999 2000 2001 2002
—— Year —_—

2003

In which year did North beat South by 100 points?

In which year did South beat North by the greatest
amount?

2002 (1 mark)

2000 (1 mark)

2. Brooklyn runs the 100m 5 times. These are his times in
seconds. '2* 2+14:2+413.S414.6 +14-5 =30
10<-S =14
1132 14.2[135)|14.6 145
What is his mean (average) time?

14 {1 mark)

3. The table shows the number of children attending rounders
after school club. Fill in all the missing numbers in this table.

| | Week 1 Week 2 Week 3 Week 4
' Boys [ 91 36 46 61
- Girls | 15 26 23 23
- Total | 36 62 69 84
21+1S =36 62-26-3, 6A-46-23  (2marks)
4 84 -23:-¢6l
50 7
O 5
2@
L Pt i
S | Fa
Q 30 /
< 20 &
O
-g 15 -
3 10
Z i
5 i
0
Jan Feb Mar Apr May Jun

How many more cars were sold in April than in March?
40-2S5:-1S 15 (1 mark)

How many cars were sold in total between the beginning of
January and the end of May? 165 (1 mark)

204 3S+25+40+4S8S =16S
5. This pie chart looks at activities completed by 60 people on

Saturday morning.  yypat fraction of the people played?

Work 1/4 (1 mark)

leep What is the difference between the
number of people that sleep and play?

v T el .

Play
15 (1 mark)

Eat
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DAY 7 — Reasoning Questions

Find the perimeter of the shape below.

202cm (1 mark)

42cm 5
pEm—— SA- 33 = 22¢m
526 al~2\ = £lom
cm 42 +5A+21+33+ 21+
o 245 200.6mn
D
2. .
X 273 X 3(‘ m, 7) ;(5""”"‘413
A film starts at 6:45pm. /\ﬁ\' ¢ .

It lasts 2 hours and 35 mlnutes

4Spm S 4 Spm 4'iSpm T &
What time will the film finish?

9:20pm (1 mark)

3.

Buses come once an hour at a twenty past the hour. Sophie
arrives at the bus stop at 9:40am. How long should she have to

wait for the next bus? 40 minutes (1 mark)

g2 s {/3;311&3
" r J\—"——
“140 Telle & 1020

4.

What is the area of this shape?

<—4an—>
A
532 oz Not to scale
=\
10ar T
3 2
v -
< 10am o
ave) Cn’\ 4+ | 2\.,(\/\ ?) 2_ cmn . _8__gg_r_'[1m(1 mark)
5.

A square has four sides. One of its sides measures 67mm. Work
out its area and perimeter in cm.

Area = 4489 cm?

C ']" 1"\(\ nﬂvm‘,

Perimeter = 26.8 cm f;L +u+ L (W
= ¢ 4 e,:uerue—f
/4 L N - (1 mark)
o ! (06 8 7 F =
& ?’\c‘
A= ( _»qf"ffm'
ANV — [ 16 of 22
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O *Llofl 3[4 [0=13 |4
210 [/jof| S|4lO|= (34 1+ 1314
60 x 70 = - 168
68
6 X :[ =12 ]
6.492 + 8 =
ca
O] 1]\
4200 | Rl&4 42
72l 378-05=
811"
: [ 1 |
3 - :\ 5 12 +(4-21=
s 199 1 s % D
131-12]%
G|~ 1Bl=1
e f 1252 =
| [ ]
AR L :
T -
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PiXL

DAY 8 — Reasoning Questions

PRIMARY

partners In excellence

1.

Toby has % of £160 and Paul has 3/8 of £240. How much more
money does Toby have?
Liety< £120 ap -£30
\._,-r £ V&80 10
< £30 (1 mark)
of £240 = £40

—

£120 =

u’%i w

2.

Circle all the improper fractions that are equivalent to 4.

3. Draw lines to join the decimal with the equivalent fraction.

P
1. o e
Oy \ &

o (f\

;i,.\'f-

(1 mark)

0.25 - %
0.34 1/5 2 23S
- Sl e
0.75 7 7/100 Gy 100
0.7 \\ 40/100
0.04 ~7/10
(1 mark)

4.

Use the symbol < > = to make this statement true.

25% of £300 > 15% of £400
< i
iR e  amew
_:: o £ 2EAS ;v / Hi 3 \_\ - 240
5‘ S /. & /2 00 = £20

Bobby and Sue are sharing a cake. Bobby wants to eat 25% of the
cake. Sue wants to eat 2/5 of the cake. Sue thinks she will be
eating the same amount as Bobby. Explain why Sue is wrong.

2/5 is the same as 4/10 which is 40%. 40% is bigger
than 25% therefore Sue is eating more of the cake than
Bobby.

B & A
- = ::' e - (_ ) i
= '1C |00 vC/ (1 mark)
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DAY 9 — Reasoning Questions

Circle all the multiples of 8 listed below: 0225

NEIe
@ 113 98

SxB8z24 & x 100 = 8GO (1 mark)

2

Write all the common multiples of 5 and 9 that are less than
100.

45, 90
§ ~ o VL g 20 . 2y O s “"‘\» i
5,108, 20, 2€,30, 35, 40,45, S5, 55,88,
6S:30,3 S, &C 25, 40,4 g G
@ Doy Dy <¢ 99 K\l.a0 A4
qu‘é'LHJS&iLl—S’ )q'ég = L. 5 -Sl l»\/" |
3

Tina is thinking of 2 square numbers. The difference between
them is 11. When she adds them together the total is 61. What
two square numbers is Tina thinking of?

I | £ ~) Pl & M 3. Vi ["r\"/-'-\
4,916,285, 36,449,684, 8], 100 25 and 36 (1 mark)

e 285214

N

4 28 =26l

0

4

Complete the prime numbers:

2 5 11 13
3 7 9 17
(1 mark)
5
What is the lowest common multiple of 9 and 12?
4 (2
(g 24 36 (1 mark)
23 36
6. Write the number 6 less than 1 million.
999994 (1 mark)
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DAY 10

35% of 260=91
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|
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DAY 10 — Reasoning Questions

Complete the pattern to make the pattern symmetrical.

-

(1 mark)

2. Write these numbers in descending order.
down

: A
176490 167940 174609 169470 10711)\-<m;l-j\;\;g
176490 174609 169470 167940 10740
largest smallest (1 mark)

3. Lloyd works for 165 days of the year. How long is this in weeks

and days? ’ﬂ _g_;l_;i_ q
4 IWé’s
23 weeks and 4 days(1 mark)

4. The table shows the temperature in different cities.

City Temperature °C
London /
Birmingham -3
Edinburgh -9
Leeds 0
Cardiff -4
Brighton 8
' Southampton o i

" Cardiff? gy d
— [
= ‘Lr O =

What is the difference in temperature between London and

11°C (1 mark)

The temperature in Birmingham increases by 14°C. What is the

temperature in Birmingham now?
; =3 i
'| ? )
s 3 /'C LI |
5. Polly has 5 bags of sweets. In each bag there are 21 sweets.

11 °C (1 mark)

She wants to share them equally between 6 people. How many

sweets does each person get?
S X 31 = iC}S Suueets

O | 3 2 17 (1 mark)
: N VA
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